
ASSIGNMENT- 01 

 

SUBJECT:MATH     CLASS:7TH 

 

Q1.   Arrange the following numbers in descending order: 

              -25, -18, -34, 16, 35, 5  

Q2.   Add: 

a)   (-125) + (-200)   

b)   632  + (-232) + 750 

Q3.   Is 30 ÷ 2 + 4 = 30 ÷ (2+4) 

Q4.   Subtract   3x – y – 4z  from  5x + 2y – 3z 

Q5.   The sum of two integers is -12 . If one of them is 8 , find the other. 

Q6.   Arrange the following in ascending order: 

                   5/6, 11/12, 7/18, 1/2 

Q7.   Simplify : 

               4/21 × 7/16 × 15/19 

Q8.   Find the value of    - |-6| + |9| - |-8| 

Q9.   Plot the integers  0,-5, 3, -2, -9 and 12 on a number line. 

Q10.  If 20 chocolates cost Rs 480, find the cost of 45 such chocolates. 
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